SuccessClap



Best Coaching for UPSC MATHEMATICS

Test Series 2023

30th July

Topic: 03 Calculus

Date: 24-07-2022

Instructions:

Time: 90 Minutes

Maximum Marks: 150

All questions are compulsory

Each question carries Equal marks

Assume suitable data if considered necessary

-1 Polle Substitutions

460

- 1 Use laplace, method of lamath
of paramete etc
of paramete etc
only when asked

- 1 check out Euleu modified formule

- 2 check out Euleu modified formule

- 1 check out Euleu modified formule

- 2 check out Euleu modif

1)Given

$$f(x) = \begin{cases} (\cos x - \sin x)^{\cos x}, & -\frac{\pi}{2} < x < 0 \\ a, & x = 0 \\ \frac{e^{1/x} + e^{2/x} + e^{3/x}}{ae^{2/x} + be^{3/x}}, & 0 < x < \pi/2 \end{cases}$$

If f(x) is continuous atx = 0, find a and b

bagain, lim
$$\frac{e^{1/x} + e^{1/x} + e^{1/x}}{x + e^{1/x} + be^{1/x}} = 0$$

=)
$$\lim_{x \to 0} e^{1/x} + e^{2/x} + e^{3/x} = \frac{1}{e}$$

$$=) \lim_{\chi \to 0} \frac{e^{2\chi} + e^{2\chi} + e^{3\chi}}{e^{2\chi} + e^{2\chi} + e^{3\chi}} = \frac{1}{e}$$

$$=) \lim_{\chi \to 0} \frac{e^{2\chi} + e^{2\chi} + e^{3\chi}}{e^{2\chi} + e^{3\chi}} = \frac{1}{e}$$

$$=) \lim_{\chi \to 0} \frac{e^{2\chi} + e^{2\chi} + e^{3\chi}}{e^{2\chi} + e^{3\chi} + e^{3\chi}} = \frac{1}{e}$$

$$=) \lim_{\chi \to 0} \frac{e^{2\chi} + e^{2\chi} + e^{3\chi}}{e^{2\chi} + e^{3\chi} + e^{3\chi}} = \frac{1}{e}$$

$$=) \lim_{\chi \to 0} \frac{e^{2\chi} + e^{2\chi} + e^{3\chi}}{e^{2\chi} + e^{3\chi} + e^{3\chi}} = \frac{1}{e}$$

$$=) \lim_{\chi \to 0} \frac{e^{2\chi} + e^{2\chi} + e^{3\chi}}{e^{2\chi} + e^{3\chi} + e^{3\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{e^{2\chi} + e^{2\chi} + e^{3\chi}}{e^{2\chi} + e^{3\chi} + e^{3\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{e^{2\chi} + e^{2\chi} + e^{3\chi} + e^{3\chi}}{e^{2\chi} + e^{3\chi} + e^{3\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{e^{2\chi} + e^{2\chi} + e^{3\chi} + e^{3\chi}}{e^{2\chi} + e^{3\chi} + e^{3\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{1}{e^{2\chi} + e^{2\chi} + e^{3\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{1}{e^{2\chi} + e^{2\chi} + e^{3\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{1}{e^{2\chi} + e^{2\chi} + e^{3\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{1}{e^{2\chi} + e^{2\chi} + e^{3\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{1}{e^{2\chi} + e^{2\chi} + e^{3\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{1}{e^{2\chi} + e^{2\chi} + e^{3\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{1}{e^{2\chi} + e^{2\chi} + e^{3\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{1}{e^{2\chi} + e^{2\chi} + e^{3\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{1}{e^{2\chi} + e^{2\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{1}{e^{2\chi} + e^{2\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{1}{e^{2\chi} + e^{2\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{1}{e^{2\chi} + e^{2\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{1}{e^{2\chi} + e^{2\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{1}{e^{2\chi} + e^{2\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{1}{e^{2\chi} + e^{2\chi}} = \frac{1}{e}$$

$$= \lim_{\chi \to 0} \frac{1}{e} = \frac{1}{e}$$

If λ , u, v are the roots of the equation in k, 2)

$$\frac{x}{a+k} + \frac{y}{b+k} + \frac{z}{c+k} = 1,$$

prove that

$$\frac{\partial(x,y,z)}{\partial(\lambda,\mu,\nu)} = -\frac{(\mu-\nu)(\nu-\lambda)(\lambda-\mu)}{(b-c)(c-a)(a-b)}.$$

=)
$$\frac{x}{a+k} + \frac{y}{b+k} = \frac{1-z}{c+k} = \frac{(x(b+k)+y(a+k))(a+k)(b+k)}{(c+k-z)(a+k)(b+k)}$$

=) $(xb+xk+ya+q)k)(c+k) = (c+k-z)(ab+bk+ak+k)$

$$f_1 = \lambda + u + v = \lambda + y + z - a - b - c$$

 $f_2 = \lambda u + u + v + v = a - a + b + b + c + ca - x(c + b) - y (a + c)$
 $-z(a + b)$

$$\frac{2(f_1 f_2 f_3)}{3(\chi_1 \chi_1 \chi_1)} = (-1)^3 \frac{3(\chi_1 \chi_1 \chi_2)}{3(\chi_1 \chi_1 \chi_2)} = (-1)^3 \frac{3(\chi_1 \chi_1 \chi_2)}{3(\chi_1 \chi_1 \chi_2)}$$

$$\frac{\partial(t_1, t_2, t_3)}{\partial(x_1, y_2)} = \begin{vmatrix} 1 & 1 & 1 \\ -(th) - (att) - (ath) \end{vmatrix}$$

$$= \begin{vmatrix} 1 & 1 & 1 \\ cth atc qth \\ bc ac ab \end{vmatrix} = \begin{vmatrix} 1 & 0 & 0 \\ cth a - b & a - c \\ bc & ac & ab \end{vmatrix}$$

$$= 1 (a-b) (a-c) \cdot b$$

$$= (a-b) (a-c) \cdot (b-c)$$

$$= (a-b) (b-c) (c-a)$$

$$\vdots \quad \partial(x_1, x_1, x_2) = + (a-b) (b-c) (c-a)$$

$$\frac{3(x_1y_1z)^2}{-(\lambda-u)(u-v)(v-\lambda)} = \frac{-(\lambda-u)(u-v)(v-\lambda)}{(b-c)(c-a)(a-b)}$$

(2)

3) If
$$y > 0$$
, show that $\int_0^\infty e^{-xy} \frac{\sin x}{x} dx = \cot^{-1} y = \pi/2 - \tan^{-1} y$

Now
$$L\left(\frac{\sin x}{x}\right) = \int_{\rho}^{\rho} L\left(\frac{\sin x}{\sin x}\right) d\rho$$

$$= \int_{\rho}^{\omega} \frac{1}{1+\beta^{2}} d\rho$$

$$= \tan^{2}(x) \Big|_{\rho}^{\rho} = \frac{\pi}{2} - \tan^{2}\rho.$$

$$L\left(\frac{\sin t}{t}\right) = \frac{\pi}{2} - \tan \theta$$

$$=) \quad \text{Put } P = y$$

$$=) \int_{0}^{\infty} e^{-Pxy} \frac{\sin nx}{x} dx = \frac{\pi}{2} - \tan^{2} y + \cot^{2} y$$

4). If p(x) is polynomial and $k \in \mathbb{R}$, prove that between any two real roots of p(x) = 0, there is a roots of p'(x) + kp(x) = 0.



5) Let f(x) be an even function. If f'(0) exists, find its value.

$$f(x) = \frac{1}{2} e^{-x}$$

$$f'(0) = \lim_{h \to 0} \frac{f(h) - f(0)}{h}$$

$$f'(0) = \lim_{h \to 0} \frac{f(-h) - f(0)}{h}$$

$$2f'(0) = \lim_{h \to 0} \frac{f(-h) - f(-h)}{h} + \frac{f(-h)if(0)}{h}$$

$$= \lim_{h \to 0} \frac{f(h) - f(-h)}{h} - \frac{f(g)}{h} + \frac{f(g)}{h}$$

$$= \lim_{h \to 0} \frac{f(h) - f(h)}{h} \qquad \text{(if (x), is even)}$$

$$= 0$$

$$= 0$$

6) If *n* is a positive integer, prove that $2^n\Gamma(n+1/2) = 1 \cdot 3$. $5...(2n+1)\sqrt{\pi}$

iNe know
$$B(n,n) = \frac{\ln \ln n}{\ln n}$$

$$2 \int_{-\infty}^{\infty} \sin^{2} n \cos^{2n-1} n \, dn = \frac{\ln \ln n}{\ln n}$$

$$=) 2 \int_{0}^{\pi h} (\sin 2\theta)^{2h-1} d\theta = \frac{\ln \ln \pi}{\ln \pi}$$

$$\frac{2^{2n-1}}{2^{2n-1}}\int_{0}^{\infty} (4ne)^{2n-1}dt = \frac{(n \ln n)}{\sqrt{2n}}$$

$$=\frac{2}{2} \int_{2\pi}^{\pi} h (\sin t)^{2m-1} dt = \frac{(fR)^2}{[2n]}$$

$$=\frac{1}{2^{2n-1}} (sint) (sint)$$

$$=) 2^{2n+1} \sqrt{n+1/2} = \sqrt{11} \sqrt{2n-1}$$

$$=) 2^{2n+1} \sqrt{n+\frac{1}{2}} = \sqrt{10} \sqrt{n(2n-1)}$$

$$=) 2^{2n+1} \sqrt{n+\frac{1}{2}} = \sqrt{10} \sqrt{n(2n-1)}$$

=)
$$2^{2n^{-1}}$$
 $[n+1] = \sqrt{7} (2n+1) \frac{1}{(n-1)!}$

$$= \frac{1 \cdot 3 \cdot 5 \cdot ... (2n+1)}{2 \cdot 4 \cdot 5 \cdot 2n} = \frac{(2n+1)!}{2nn!}$$

$$= \frac{1.3.5}{2.4.5.-2n} = \frac{1.2-3.4--(22n)}{2nn!}$$

$$\frac{1}{2} = \sqrt{n} \left(\frac{(1 \cdot 3 \cdot 5 \cdot - 2n + 1)}{2n - 1} \right) = \frac{(2n + 1)}{2^{n - 1}} \left(\frac{(2n - 1)}{2^{n - 1}} \right)$$

$$= \sqrt{2^{n+1}}$$

7) Find all the asymptotes of the curve $(x^2 - y^2)(x + 2y + 1) + x + y$ (x2-y2) (x+2y+1) + (x+y+1)=0 y + 1 = 0. $\frac{\chi^{2}-y^{2}=-(\chi+y+1)}{\chi+2y+1}$ $\frac{\chi^{2}-y^{2}=-(\chi+y+1)}{\chi+2y+1}=\frac{1}{2}$ $\frac{\chi^{2}-y^{2}=-(\chi+y+1)}{\chi+2y+1}=\frac{1}{2}$ $\frac{\chi^{2}-y^{2}=-(\chi+y+1)}{\chi+2y+1}=\frac{1}{2}$ (x-4) (x+4) tx+2y) + x2-y2+ (x+y+1)=0. $x+y+\frac{x^{2}y^{2}+(x+y+1)}{(x-y)(x+2y)}=0$ Asymptols = y for nty = (x-y2+ (x+y+1)) =0

=) x+y+ lum (x-y) (x+2y) =0 x-y =+ x2-y2+ (x+ y+1) =0 (x+y) (x+2y) Asymptoto for x=y (n2-y2)(x+y+1) =0
x-y + um (x+y)(x+y+1) =0 =) $x = y + 4 m \frac{2x+1}{x-90} = 0$ Asymptat for x+my (x+2y) + x2-y2+ (x+y+1) =0 =) (x+2y) + lim 4y2-y2 + (-y+1) ==0 =) X+2y+1=0

8) Show that $\lim_{n\to\infty} \sum_{r=1}^{n} \frac{1}{\sqrt{4n^2-r^2}} = \frac{\pi}{6}$.

$$\lim_{n\to\infty} \sum_{r=1}^{n} \frac{1}{\sqrt{4n^2-r^2}}$$

$$= \lim_{n\to\infty} \sum_{r=1}^{n} \frac{1}{\sqrt{1-(n'/n)^2}}$$

$$= \int_{0}^{1} \frac{dx}{\sqrt{1-x^2}} \qquad (limintsum as integral)$$

$$= \sin^{-1}\left(\frac{x}{2}\right) \Big|_{0}^{1} = \sin^{-1}\left(\frac{1}{2}\right) = \frac{\pi}{6}$$

$$\int_{n\to\infty}^{\infty} \frac{1}{n^{2}} = \frac{\pi}{6}$$

CSE, AIR 19 ,CSE Test Copy of Mr Shivam Kumar

9) If
$$z = x^m f(y/x) + x^n g(x/y)$$
, prove that

$$x^{2} \frac{\partial^{2} z}{\partial x^{2}} + 2xy \frac{\partial^{2} z}{\partial x \partial y} + y^{2} \frac{\partial^{2} z}{\partial y^{2}} + mnz$$
$$= (m+n-1) \left(x \frac{\partial z}{\partial x} + y \frac{\partial z}{\partial y} \right).$$

Estet
$$u = x^m f(y/2)$$

$$\frac{x^2 + y^2 y}{x^2 + y^2 y} = m \cdot (m-1)u \cdot - (1)$$

$$\frac{x^2 + y^2 y}{x^2 + y^2 y} = m \cdot (m-1)u \cdot - (1)$$

and
$$i\frac{\partial V}{\partial u} + y\frac{\partial V}{\partial y} = N \cdot V$$

and $i\frac{\partial V}{\partial u} + 2xy\frac{\partial x}{\partial y} + 4x^2\frac{\partial y}{\partial x} = N \cdot V$

$$= m^2 u + n^2 V$$

$$=(m+n)(\mu u+\mu)-mk(u+\nu)$$

CSE 2023, CSE 2023, Test Copy of Mr Shivam Kumar



$$x^n + y^n + z^n = a^n, (n > 0)$$

$$x^{N}+y^{N}+\geq^{N}=a^{N}$$

n-yplane

=) x "+y"=a"